Vehicle Application:

|n Stal | at| on In stru Ct| ons «Jeep Wrangler JK and Wrangler Unlimited
2007 — Current

Factory Style Windshield | part number: 55013
E C h an n el Compatible with original equipment soft tops, 54722 and 54723 Supertop NX, 56822 and 56823

Trektop NX, and 79142 and 79143 Sailcloth Replace-A-Top

www.Bestop.com - We're here to help! Visit our web site and click on “Ask a Question”. Click here for more Jeep® Accessories by Bestop.

ok DO G

1/2 Hour 1- Easy
Phillips Masking Safety
Screwdriver Tape Glasses

#2

é Safety glasses should be worn at all
times while installing this product.

m This product is designed primarily to enhance the appearance of the vehicle and to shield the occupants from ordinary weather conditions. Do
not rely in any way on the components of this product to contain occupants within the vehicle, or to protect against injury or death in the event of an accident.
This product will not protect the occupants from falling objects. Never operate the vehicle in excess of manufacturer’s specifications.

WEAR SEAT BELTS AT ALL TIMES

Read and follow, precisely, all installation instructions provided when installing product. Failure to do so may result in a poor fit and could place occupants of the
vehicle in a potentially dangerous situation.



www.bestop.com
www.bestop.com/index.php?a=2
www.bestop.com/index.php?a=20&o=jeep-accessories

Factory Style Windshield Channel Installation Instructions

Parts List and Mount Side Bows to Header Drill Hole in fabric and
Hardware Identification A (07:\UR[0]\']} notch in Lower Header
g Assembly must be aligned.
Place the Lower Header on the Side Bows. Install ; ; ;
two (2) #8 x 1/2" Pan Head Washer Screws to se- Al 'gn TOp Fabric with Header
<11 cure the Lower Header to each Side Bow. Lay the front edge of the top fabric on the Lower
O Header with the backing side up. Make sure the

drill hole in the center of the fabric lines up with the

#8 x 1/2" Pan Head Washer g =
notch in the Lower Header. Tape the fabric in place.

Screw, Qty - 8, Part Number
393.79

O

/ 7" Lower Header
Assembly, Qty - 1,
Part Number 539.60

#8 x 1/2" Pan Head
Washer Screws

O ] ________________________
#8 x 1/2" Hi-Lo Screw,
Qty - 27, Part Number Align Drill Hole
459.03 and Notch

O
Upper Header Assembly, e Secure Top Fabric to Header

Qty - 1, Part Number
480.00

Place Edge Protector over front edge of Upper Header and tape in place.
Lay the Upper Header on top so that the fabric is sandwiched between the Upper and Lower Headers.

Start with the center hole and install twenty-three (23) #8 x 1/2" Hi-Lo Screws to attach the Upper
Edge Protector, Qty - 1, Header to the Lower Header. Secure the Upper Header to each Side Bow with four (4) #8 x 1/2" Pan
Part Number 481.90 Head Washer Screws.

o <

Foam Seal- Right, Qty - 1,

Part Number 457.76 [J Foam Tape, Qty - 2,
%Part Number 417.43

D i

Foam Seal- Left, Qty - 1,
Part Number 457.77

Start in
Center

Rev. B 0817 55013 pg. 2



Factory Style Windshield Channel Installation Instructions

Install Side Bows on
Header Assembly

Wrap the fabric around the edge of the header. Slip
the fabric pocket sewn into the top between the
headers and position the anchor foot.

Install two (2) #8 x 1/2" Hi-Lo Thread Screws
through the fabric and metal flag into the Lower
Header on each side.

|:| 2007-2009 original equipment tops will
not have a metal flag.

#8 x 1/2" Hi-Lo
Thread Screws

Rev. B 0817

55013 pg. 3



L9GE-G78-008 9844 [|0L [[€D

L1100 D ney £2008 0D ‘a]|1AsinoT g “91S "Aemyied eruusiua) £¢¢ u|'dojsag
neauuo] pieH p|o4 73
"anoqe palyads Jou spnpoid y,Spug Judlusned B doisag Jaylo ||y }aniy 1o} gdouadng doj yos a13)dwo) glapuung
AINVHYYM QILINI 4V3AL 8dO1SIE do] Hog d1sse|) gdonadng wdoyjey pue ,dopabi]
(|1mj-uou) dof XN gdouiadng widoj-e-a3eday yiopies
abe1035 05  19p1yybnoy (Imy-uou) dog XN edopyai] (Im-uou) doj ,,doj-e-ae|day
do] yos 21sse|) gdopyail (I1m]-uou) doypieH 104 giapuuns (jjimp-uou) doj y,3p19 XN edomai]
ALNVYYYM @ILINIT YVIAZ £d01SIE ALNVYYYM @ILINIT YVIAS «d01SIE
do] Juudg spu3 juatuaned SNeauU0] YOS wy||0¥73
ALNVHYYM @ILINIT 4YIA-€ d0LSIE slaliieg 194 SNBAUUO| HOS yy|1eydiz
siaur] obie) g oo sneauuo] Jos w.p|o473
uno Jeay ‘g daisyal) doj 2uqed [|ImL XN gdouadng doj 2uqed [|Im XN edopaiL
N0\ 3pIS ‘g dalsyau] doj ouqed |jim] , doj-e-adejday  doj duqed [jimL ap19 XN gdopiail
XN @P1B0GIBMO] B ¢PIBOGIBMO do] duqe4 [|1m] doipieH 10} glaprung do] duqey [jim] 014 gdopjai]
ALNVYYYM @ILINIT STTIN MO0 L/YVIA-E #d01SIE ALNVYYYM JINI1341T AILINIT #d0LSIE

:dojsag Aq painpepnuew spNpoid 10j Smoj|oj se aie spouiad awiy Aueremay] :SAOTIId AINVIIVM ANV SIDNA0Yd AIYIN0D

10NA0Y¥d HONS

404 ALNVHIVM QILINIMTTYNISIYO FHL 40 NOILYYNGA IHL 40 IDNVIVE 8 SWYILYIANN dIYIA0I 38 TIM ALNVHYVYM SIHL A0 SINYIL¥IANN dIOV1d3Y
SIONA0Yd ANY "INSSI 1INA0Yd ¥3HLO Y0 S1I3430 ANV 0L 103dSFd HLIM ATINTY 310S YNOA B NOILYO190 F10S S.d01S3d HIYO04 S13S NOILIIS SIHL
“swiep yans 03 Padsal yum Aijigisuodsas ou aney [jeys doisag pue pIoA pue ||nu aie poLiad 130N Ajueiiepy ayj Jaye apew swiep

fyuewepy <(,poriad 8anop Auewepy, ayy) poad Auesepy ajgedjdde ays jo pua ayy Jaye skep Auiyy ueyy Jaje| Juans ou Ui ing ‘PNpoid aAaep e jo A1anodsip
jo skep g uryum wod doisaq@doisags 03 pajiewa aq Isnw SWiep ||y "suonanisul 1of wod doisaq@doisagsd 1e 8d1nas Jawoisn) doysag [lews snw
noAsiy ‘wiepd Ayueiem e aney noA 4 “wiep fuesem Aue Auedwodde 1snw pPnpoid ay3 104 aseyaund o jooid jeutbuQ -aseyind 4o jooid 1noA urelas ases|d

"uo13aSIP SH Ul Juawsde|dal ydzed

Pa10]02 |RANAU J0 Ye|q B Y}M nok apiaoid Aew 31 ‘a1nxa} 10 10]0d 8y} ydiew 03 3|qe jou si dolsag J| "ainixa} 0 10]0D dY} Ylew 0} a|qe aq ||im doisag jeys 1a
-namoy asjueienb ou st aiay] PPNpold Bunsixs Inok Jo ainyxa pue 1003 8y} 0} Juswade|dal 4o yojed Aue yajew o0} S0y ajqeuosesas asn |jeys doisag ‘ulaiay
Yo} 185 Se 1onpoid Inok ade|dai 1o aedai 03 sydo doisag 4 -1npoid ay1j 10 1onpoid JuaLnI e yumNpoig panunuodsip ayy ade|dai ‘uondo sy e ‘Aew doiseg
'pPanunUOISIp 84 1INPoId Jy1Iads e pINOYS 1IP0I Y3 JO [BAOLUSI 10 UOIE|[RISUI YHM pajedosse sabieyd soge) 1oy Aed Jou [jim doisag “ureay Sanueiiem ay}
Y3m Juerdwod-uou S1'uoiadsIp SH Ul ‘swi;uod 3 yeyy 1onpoid Aue aejdai 1o Jredas 1ayie ‘uondo sy e ‘| jeys doysag ‘pousd Auesem ajqedrdde ayy buung
AQ3INIY 310S 4NOA

"suolIpuod sayieam buikiea 0y anp Bupyaeid 10 ‘asnsiw 03 anp smopuim [Auin 0} abeweq e
‘Wed jusuoduwod Aue 10 1onpoid e Jo
(sueaw Jayio Aue Aq abexeaiq 1o abexeaiq |eyuapidde ‘abexeaiq snosueuods ‘uonenwi| inoyum buipnpur) abesesiq ui bunnsas sbeweq o
‘dojsag Jo |01u0d 3y} puokaq st Juswabeuew
10 suonesado ‘aremyos ‘spnpoid asoym siaunied ureyd Ajddns ‘jo 1pnpoid panunuodsip 10 ‘Aq aduewiopad Jo 3Ie| 10 ‘Jem paleapun 10 paleIap
‘5351435 ‘1SBIUN [IAID ‘9PBW-UBLU IO [eANjEU SIB)SESIP JaY10 10 'Bulpooj} ‘opeulo} ‘auedtiny ‘ayenbyues ‘o) papwi| jou ing buipnppul ainale|y 83104 e
SUOI}IPUO0D BWaIIX Ul 8Sn ‘suore|nbal 1o me| a|qedrjdde 1o ‘suononisui dojsag ‘uoneuawindop Pnpoid Aue yym Ajduwiod o3 ainjieq e
‘aueudjulew arenbapeur o 1adodwi 10 ‘uonedryipow 1o uoijejjeisut sadoidwi 10 ‘a1t ‘aausbi|bau ‘wisijepueA ‘syuapiade ‘asnge ‘asnsijy e
:0} paje|al sajap 40 ‘sabewep ‘swiepd Aiueiem Aue Joj Aem Aue u ajger| jou st doysag pue ‘sepn|axa Aueiiepy paliwi] sy
ALNVYYVYM IHL OL SNOISNTIX3
91815 0] 91e)s woiy Aren
yorym spybui sayro aney Aew nok pue ‘spybi jebaj a1yads noA sanib Auesiem siyy ‘nof oy Aidde you Aew Siy3 s ‘uoneywiy 10 uoISNjIXa MOjJe JOU 0P SaIe}S aWO0S
'SIOYINYA YO SSOTHINS 40 ALINIFISSOd FHL 40 QISIAQY SYM ANYAINOD LON 4O ¥IHLIHM ‘ISIMYIHLO ¥O "FINIOINOIN ALNVYEVM 40 HOVIYE 1401
1OV¥INOD 40 NOILYIANdIY YO HOYIYE ¥O4 ¥IHLIHM ‘AISNYI YIAIMOH INNIAIY YO SLIH0¥d LSOTONIANMIINI ‘ANIN ANY 40 SIOVINYA AYYTdINIXT 4O
1DYIANTJAILINNG TVIININDISNOD TWINIAIINI T¥I1DIAS ANV ¥O4 378VIT 3 ANVAINOD TTIM LNIAT ON NI “3SOddNd ¥YINDILYVA ¥ 404 SSINLIH ¥O INIW
“JONIYANI-NON ‘ALIMIGYINYHONIIN 40 STLNVYEVM SNOILYLIATT LNOHLIM ONIANTINI STILNYIYYM ¥IHLO YO AYOLNLYLS ¥O QITdINI TIV SINIVIDSIA
SSIYdXT ANVAINOD ANV 'STIATNTY ANV STILNVIYYM ¥IHLO TTV 40 NIIT NI ANY IAISNTIXT ANY 310S FYY STIAIINTY AILVLS ANV ALNVIYYM QILINIT FHL
"sa1sqam pig-a2ud 10 ajfis-uonane woiy Jybnoq 1npoid 03 Ajdde Jou ssop Aueriem sy “ajqeubisse 1o a|qeajsuei} 1ou S Ajueliem Siy] 1aUMO
JYIOUE 0} PalIajsuei} SI d|IYaA [eulBLIO By} JI 10 B|IYaA [euIBLIO By} WO} PAAOLUAI 37 1INPOIJ BY} pnoys salidxa Ajuesrem ay] “paj|eIsul S11INpoid ay} YaIym
uodn ap1yan ayy sumo Jaseydind |iezal jeutbuo ayy se buoj se Ajuo pijen si uesrem ay] “Ajuo 1pnpoid ays jo saseydind jeurbiio ayy 03 satjdde Aueriem siy|
TYNOILIANOJ ANY Q3LINIT SI AINVYIVYM FHL
"U013295 ey} Ul Yyuo} 39s spouad Aueriem paiyads ayy 104 diySUBLLYIOM puE S|eLIB}eW Ul S)84p WOJ} 831} aq A||erueisqns ||im (,19npoid, e) U0IIAS ,SpoLidg
fyueliep) pue snpoig paIano)), ay ul paist| spnpoid paianod ay) eyl syueliem pue sjuasaidai doisag ‘(,swis], 8y ‘AjaAda]03) 81ISGaM Ino Uo 8jes Jo
SW8} JuaLINd-uay} 4no ul (,am, 1o ,sn, 10 doisag,) duj ‘doisag Aq y1oy1as suonipuod pue swia) Aue Buipnjaul ‘ajes jo SUORIPUOI pue swid} 8y} 03 1algns
SINVYYYM 401539 IVHM

L g A EL g A
£10Z Ainr patepdn
AYYININNS ALNVYYYM 401539






